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Questions 1 to 15 carry 2 marks each. For each question, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4)

and shade your answer on the Optical Answer Sheet. (30 marks)
1. In 71 563, what does the digit 5 stand for?

(1 5

2) 50

(3) 500

(4) 5000

2. Write 18 204 in words.

(1)  Eighteen thousand and twenty-four
(2) Eighteen thousand, two hundred and four
(3) Eighteen thousand, two hundred and forty

(4) Eighteen thousand, two hundred and fourteen

3. Arrange the following numbers in order. Begin with the greatest
number.
60 135 60 153 60 053 65 053
greatest smallest

(1) 60053 , 60135 , 60153 , 65053
(2) 60053 , 60153 , 60135 , 65053
(3) 65053 , 60053 , 60135 , 60153

(4) 65053 , 60153 , 60135 , 60053



Round 3652 to the nearest hundred.

(1) 4000
(2) 3700
(3) 3650
(4) 3600

Which one of the following is not a factor of 647

(1) 6

(2) 2
3) 8
(4) 4

What is the missing fraction in the box?

219
3
O
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1
Which of the following fractions is less than > ?

(1)
(2)

(3)

lon ©O NIA AN

(4)

-l
. §

3
Which of the following improper fractions is equivalent to 5-5?

m 2
@ 2
@ 2
@ =



What fraction of the toys are toy cars?

Toy Planes '!;?q‘:
y P S%d  Sad

Toy Cars

Toy Boats

wl =
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(2)

Iw KN

(3)

-
o O

(4)

N




10. In figure ABCDE, which angle is equal to 45°7

9]

(1) 4£BAE
(2) £ AED
(3) ZABC
(4) «BCD

11. Ahmad eams $5398 a month. He spends $1806 each month and
saves the remaining money. How much money does he save after half

a year?

(1) $27 552
(2) $21552
(3) $4592

(4)  $3592



12.  Look at the figure below. ABD, GFE, BF, CF and DE are straight lines.

m

Name the line that is parallel to line CF.

(1) AD
(2) BF
(3) DE

(4) GE



13.

14.

A soccer mafch started at 6 p.m. as shown in the clock below.

The soccer match ended at 7.15 p.m. that evenihg. How many right
angles will the minute hand make by the end of the game?

(1)
(2)
3)
(4)

1

2

Abigail and Elyse were playing with 7 number cards as shown below.

goaannn

Abigail started by using 4 different number cards to form a 4-digit odd
number. Elyse then used the remaining cards to form a 3-digit even
number. Each number card was only used once.

What is the greatest difference between the two numbers that the girls

formed?

(1) 7232
(2) 7285
(3) 7529
(4) 753



Jean, Kate, Lindy and Mark each wore a different coloured T-shirt: red,
orange, blue and black. Lindy did not wear red or orange. Jean liked
Mark’s blue T-shirt. Kate did not have a red T-shirt. What was the
colour of the T-shirt that Jean wear?

(1) Red
(2) Bilue
(3)  Black
(4) Orange
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Questions 16 10 35 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (40 marks)

16.  List all the common factors of 54 and 81.

Ans:

17.  Which of the 2 numbers are not multiples of 97

27 54 38 81 75

Ans: and




18. (a) Find /r.

Ans:

(b) Draw a line WX that is perpendicular to line AB.




19.  Using a protractor and a ruler, draw ZABC = 67°. Mark and label the
angle. The line AB has been drawn for you.

3
20. Mei Ling is facing the Police Station at first. She makes a 2 turn

anti-clockwise. Where is Mei Ling facing in the end?

Food
Shopping Centre Police
Mall Station
Basketball L
Court Mei Ling Playground
N
MRT _ {,
Station Library Hospital
Ans:




21. Samy is facing north at first and he turns to face the Clock Tower.
What angle has Samy turned through in the clockwise direction?

Garden Bookshop Exercise
Corner
Music Computer
—_— Samy
Room y Room
N
Art Room Dance Clock ‘I‘
Room Tower
Ans: °

22. Compiete the number patterns.

(@) 32475, 32485, 32495, , 32515, 32 525

(b) , 91205, 93 205, 95 205, 97 205

Ans: (a)

(b)

23. Jane can pack all the coockies into boxes of 6 cookies or boxes of 8
cookies, without having any remaining cookies. What is the smallest
possible number of cookies Jane can have?

Ans:




24. A refrigerator cost $1695 more than a television set. Mr Lim would
have $367 left when he chose to buy the television set. How much

more money would Mr Lim need when he chose to buy the refrigerator
instead?

Ans: $

25. A machine can produce 1960 boxes in 8 hours. How many boxes can
12 such machines produce in 1 hour?

Ans:

26.  There are 2970 children in a school. There are 5 times as many boys
as girls. How many girls are there in the school?

Ans:




‘ 3
27.  Eason had 56 cards at first. He gave away 7 of his cards. How many
cards did he have left?

Ans:

3 1
28.  Packet A contains z kg of beans. Packet B contains ry kg more

beans than Packet A. What is the total mass of beans in Packet A and

Packet B? Express your answer as a mixed number in its simplest

form.

Ans: kg

1
29. Maya cut a whole cake into 12 equal slices. Her friends ate > of the
cake and her cousins ate 5 slices of the cake. What fraction of the

cake was eaten?

Ans:




3 1
30. There was P { of water in a pail at first. Xiao Tong poured 2 £ of water

into the pail. How much water is there in the pail now?

Ans: £

7 1
31. Elsatook ~1-6 h to drive from her house to the zoo. She took § h less

to drive back home from the zoo. What was the total amount of time
she took to drive from her house to the zoo and drive back home?

Express your answer as an improper fraction in its simplest form.

Ans: h

1 1
32. A bag of potatoes has a mass of 2 kg. The bag of potatoes is p kg
lighter than a bag of apples. What is the total mass of 2 such
bags of apples?

Ans: kg




33. A book cost $28 more than a pencil case. Marilyn paid a total of $527
for 56 such books and 4 such pencil cases. How much money did each
pencil case cost?

Ans: %

34. Mother gave Ariel, Brenda and Chong Ming some marbles. Ariel
1 3
received B of the marbles, Brenda received 2 of the marbles and
Chong Ming received the remaining 35 marbles. How many marbles

did Mother give to the 3 of them in fotal?

Ans:




35.

2
There was a total of 160 green beads and red beads. After 3 of the

green beads and 12 red beads were removed, there was an equal
number of green beads and red beads left. How many red beads were
there left?

Ans:




For questions 36 to 43, show your working clearly and write your answers in
the spaces provided. The number of marks available is shown in brackets [ ]
at the end of each question or part-question. (30 marks)

36. Thavanesh had 450 chocolates. He gave 172 chocolates to his friends.
He packed all the remaining chocolates into bags of 8 and kept the
leftovers for himself. How many chocolates did Thavanesh keep for
himself?

Ans: [3]

37. Mrs Quah bought more than 20 but fewer than 50 pencils for her
students. When she gives each student 8 pencils, she will be short of 2
pencils. When she gives each student 9 pencils, she will need 8 more
pencils. How many pencils did Mrs Quah buy?

Ans: [3]

10



38.

1
Rebecca had a piece of ribbon. She used 5 of the ribbon to tie a

1
present and — of the ribbon to decorate a dress.

(a)

(b)

5

What fraction of the piece of ribbon was used to tie the present
and to decorate the dress?

She used 240 cm of ribbon in total. How long was the piece of
ribbon at first?

Ans: (a) 2]
(b) [2]

11



38.

3
Ared poleis5mlong. ltis 0 m longer than a blue pole.

(a) What is the length of the blue pole?

(b) What is the total length of the red pole and blue pole?

Ans: (a)

(b)

2]
(2]

12



40. Mel's home, the bank, the supermarket, the shopping centre and the
playground are located as shown in the square grid below.

—

f

1y

Playground

d

F 34 2
Shopping

Centre

=t

upermarket]

i

Bank

(a) In which direction is the playground from Mel’'s home?
(b) In which direction is the bank from the supermarket?
(c) Which place is north of the bank?

(d) Alibrary will be built in the neighbourhood. The following
sentences describe the location of the library.

i. Mel's home is north-west of the library.
ii. The library is south of the shopping centre.

Mark "X’ on the grid above to show the location of the library.  [1]

Ans: (a) 11

(b) [1]

(c) (1

13



41.

Amiya and Ben had the same number of stickers at first. Ben used
3600 stickers. In the end, Amiya had 4 times as many stickers as Ben.

(a) How many stickers did Amiya have at first?

-{b) How many stickers must Amiya give to Ben so that both of them

would have the same number of stickers again?

Ans: (a) [2]
(b) [2]

14



42. Amanda uses grey tiles and white tiles to form figures that follow a
pattern. The first four figures are shown below.

Figure 1 Figure 2 Figure 3 Figure 4

(a) What is the total number of grey tiles and white tiles Amanda
would use for Figure 87

(b) How many white tiles would she use for Figure 367

Ans: (a) [2]
(b) [2]

15



43.

2 1
Wendy spent 3 of her money on a bag, 3 of her money on a pair of

shoes and saved the rest. The amount of money she saved was $100

less than the total amount of money she spent.

(a) What fraction of her money did Wendy spend?

(b) Wendy gave half of her savings to her sister. How much money
did Wendy give to her sister?

Ans: (a) [2]
(b) [2]

End of Paper

16
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Questions 1 o 18 carry 2 marks each,” For eachl quastlon, lour oplions are

given. Onae of them is tha correst answar, Make your cholce {1, 2, 3 or 4)
and shade your answer on the Opticat Anwer Sheat. (30 marka}

10,

in 71 563, whot does tho digit 6 stand for?

(1) 5

2 s

(3 500

“ 500 (3 v

Wrile 18 204 In words.

(1) Elghtoon thousand and twenty-four

{2} Eighteen thousand, two hundred and four

{3)  Eightoon thousand, two hundred and forly

(4} Eighlean thousand, two ynaaaa and foutesn m 2 v

Aranga the foiowing numbers In order. Begin with tha greatest
number.

.80 135 60 1563 60053 85053

arestest. amatjost
(1) 60053 , 60135 , 60153 , 85063 X
(2) 60053 , 80153 , 80135 , BBO53 X
(3) 65053 , 60053 , 60135 , 60163
{4y 85053 , 60153 , 60135 , 60083 v A h_. V

In figure ABCDE, which anigle Is equal to 45°7

{1) «£BAE
2) ZAED v
() «<A8BC
C2)
4) «8BCcD

t
Ahmad eams $5308 s month. He spends $1808 each month and

23:7:3313_3,,323..IaiS:a:_danQnowo:c-EBuzon:u:
8 year? i

 $539% ~ 91806 = £3592

{t) s$27652

(2 $21652 $3592 xb = 20552
(3)  $4s02

(4) sas02 2 )

4. Round 385210 the n

™
@
@
(@)

4
@)
®)
)

]

@

@

@

12, Look atthe flgure below. ABD, GFE, BF, CF and DE are straight linas.

4000
3700
3650
3860

8
2
8
4

-2

3

red,

€
x4y
2%x32
4 X
g x®

Whal Is the missing fraction In the box?

(2)

Which ona of the foliowing la not a factor of 847

Cl

(3

)

)

Name ihe fine that s paralle! to line CF,

9]
@
)
4}

AD
B8F
DE
GE

€2

13

14.

{ %

Which of the followdng fractiod, than .Wo

2 )
) i®2

4 O
@ 3 s than

5 Py
)] § meer then I

: C4)
@) 3 less than 3

. 3,
Which of the foliowing Improper fractions Is equivalent to mma

. 3
w 2 sh=H+y
: =4
28 -8
@) 5
43
[ON
w 2 (3)

A soceer malch starfed ot 8 p.m. as shown In tha clock batow,

The saccee match ended at 7,15 p.m. that evening. How many right
angles will the minute hand make by tha end of tha game?

1

2) 2
{3) &
@ 5 4)

Abigat aod Elyse were playing with 7 number cards as shown below,

(L

Ablgall started by using 4 differont numbar cards to form a 4-digit odd
number.. Elyse then used the remaining cards to form. a 3-digit even
number. Each number card was anly used once.

What ts the greatest a_,amaag betwaan the two numbars that the girls
formed? : el v

Geentest »iﬂu# odd numbar

) 71232 S 7653 .
) 7285 =diaiF aven pumber
3) 7529 124

W e —Geretrest diffarnce

7653124 =752 9(fne)

(3)

What fraction of tha loys are loy cars?.

Toy Planas g K Wm@ 3
Toy nma @ @ 2
Toy Bosts @ @ % @ % 5

w1 -k

@

@ &

w 3 ¢

Jean, Kale, Lindy and Mark eachi wore a diiforont coloured T-shirt; red,

. -orange, blug and black:" Lindy did not wear red or orangs. Jean liked"

Mark's bive T-shitt: - Kale did not have a red T-shirt.: What was the
colourof the T-shirt that Jean wear?

were.
S (1) Red
Ty Bue
(3 Black
C1 )
{4). Orango
Ried |Orangi | Biue, | Black
Tean | v X% X
WKate R v % ®
Lindy X X X v
Mock | X L Ry | x
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‘There was a total of 160 green beads and red boads. After .w. of the
groen beads and 12 red boads wore removed, there was an equal
number of green besds and red beeds loft. How many red baads werp
thero lofi?

Befrer

Qunifs = 160~ 12

- =148

ed U w31

40.

Met's homa, the bank, tha suparmarket, tha shopping centre and the
playground ara locsted as shown In the square grid below.

A

Prayseeond

L]

siate hass|

=)

T

__i..>z

X piiid

o

{a) In which direction is ths playground from Mal's home?
{

{e]

2

In which diraction is {hs bank from the supamarkel?

Which place Is north of the bank?

(d) Albrary wiil be built in ihe noighbourhood. The foliowing
santencos deacribe the location of the tibrary.

1. Mel's home Is north-wost of tho library.
il, The library Is soulh of the shopping cantre.

Mark ‘X’ on the grid above to show the localion of the ibrary. (1)

Ans: () Porth-casd g

(b) South - west 1y

© playground "

;
Fot qusstiona 36 (o 43, shf arking closrly and write your anewers in
tha spaces provided. The nu. » matka avaliable is shown In brackels { |
atthe end of e ostion or par-queation. (30 marks)
36. Th h had 450 Ho gave 172 {0 his friends,

Ha packed ali the remaining chocolates into bags of 8 and kept the
ieflovers for himself, How many chocolates did Thavanosh keep for
himaalf?

450~ {72~ 278

27858 =24R,

6

Ang; {31

37.  Mrs Qush bought mors than 20 bul fewer than 50 penclis for her
sludants. Whon she givas each studen! 8 pencils, she wil ba short of 2
panclls. When she glves each sludent © pencils, shs will nsed 8 more
pencils. How many penclls did Mre Cush buy?

el 124132 40

43
m__:w; 22 |30 wm@

S EdEI e

mrml;& 19 .«N& 37 6

24

“b

41, Amiya and Ben hed the sams number of stickers st firsl, Ben used
3600 stickars. in the end, Amliya had 4 times as many stickers sa Born,

{8) How many stickers did Amlya hove st firat?

{b) How many slickars must Amiya give o Ben g0 that both of them
would have the sams number of stickers agaln?

Before,

f

Ben -

(4) Bunits 23600

Avivga — ] fanif = 360073
= 1200
Afte t 3600+ 1200 = 4800 (Ars)
8 3600 4
43 \ X
\ (b)__ 3600 2 = 1800 m?mv
?x.:}

Ans: (o) 800 2
w 1800 2]

uu.megoﬁ.:»annanaﬁ :ﬂmo«, aan.w o:zo:gaiczau
1 o
prosent and H of the :agu\megs_a adress.

{a) What fraclion of the plece of ribbon was used 1o lie the present
and lo dacorate the drass?

{b) She used 240 em of ribbon in tolal. How long was the piece of
ribbon at first?

L) E+s-

) & 5240 ¢
T§ > 240um & 3
c 30 tm
‘_..mnlv 30 tm X IS
= 450 e (Ans)

fo (G
7

2

Ang () 1B 7]
® 450 cm It

42, Amanda uses groy tiles and white dles to form figures thal foflow o
pattern, The first lour figures are shown betow.

HH

Figure 1 Flgure 2 Flgura 3 Figure 4

{a) What iz the total number of grey tiles and white ties Amanda
woukd usa for Figure 87

{v} How many while ties would sha use for Figure 367

(9) 329 2 27 ( gw) .
() 2x37= 14
U1-35276 cpas)

Anz: {a} 27

® T @l

3
o

39, AredpololsS 3 long.

m longer than a blus pole.

() What is the lengih of ihe blue pole?

(b) Whatis the lolal length of tha red pole and blue pole?

(@) Blue => G ~ 7 m
= I.h.wo:_:wlo.g
= L Chve)
(b) Todal > 5mt Am = Tiom ()

R
Ans: {a) .NT 1o R 1
w drm  om

2 1
43, Wendy spent 3 of her money on a bag, H of her money on a pair of
shoes and saved the rest. The amount of manay sha saved was $100

Joss Than the lolel amount of money she spent

{n}) Whatfraction of her monay did Wendy spend?

{b} Wendy pave half of hor savings {o her sister. How much monay
did Wendy give (o her sistor?
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